SAAE A[1904= 20194 11€ 279 (=2Y)

=2

BAbgelA]l AF T 1A A|2019-101%

ZARERRARAEEE F21Y) 28 2 AEEH 14

1. FARGGA] AT =ARRAIE S TSRS A9 9 oo ¥t W&, AB0xE, A32x
3OS ] AREE ASE, TEXOISAl TR AlSE ARde] A7gell whet ofefier &

O

| 23} FAlof| APFEHS AAdote] AT
2. TARARBERS Eol@AEAEA “hip:/lulis.molit.go koA FR9= ART
FEEAIHBO65-4804)0] HIZ|StaL UHEQl 9 ofsftARlof|A HJUTh

20199 11€¥ 27¢
AN AATHY

L EAEE AN 22, F2) A4 5 AYE" IAZA
7 k2 AAZA

T2 =) of 2+ =9 2
28 _ Wl | 220 o | o=y | TR 2 ua
53 | B¢ | ¥s | ZY(m) | ¥ (m) gay |  &dd
At | I4| HAls HAlES
é_lA-l _jl\_i = o o
2 30280 6 oz ica| 199 s6631m1n) | 761-481%)
O =2 AA AaA
Ezd ZHUE ZHAST
J@70{0] HH|El el Blaf CI| LS =
AZ329 iﬁﬂg |:||7HA-|§ ZD|7¢E=I 7|-|HPEE=10| AI-AIE| O:|?j E%
= [=109m B=6m Bigol] =2 JHES St JHIAIY R21V[8tS OFA
StALE

(i) =
£ AlMo - =5 Zz
g| o Ame ) CE 2| i
7= s | 199 g i Y| wE | wEs 23 -
_ HE 766-76HH2
agl -z 5d, | IS T06T6UA 2)984 984
T o =2




20194 11€€ 279 (=L29)

k=3

HA|E H[1904

S o =
N
_u.__l OlT ok
Au _ nj
o <
< 3 %%
o
o A =
0 < 3l
o Y 3
< ol
o | Mr o
I} o) a1
_.IA.m m\_ __O_“_
NS m.._._l Z_I X
NF ﬁo <4
K
= K- L_ﬂ.w_ ofu
< X0
T Il =0 NF
0{0
——
-
X0
_n BUIS
D
ik
X <
NF
8o =0
XN i~
= Nk
__O._
E
=
=
ol
H






